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<HLFEFLHPRBZRERE - o7 —32 —EX>
(H1 2F5EHREHR)

E B &#» #Hm =&\ H
RS e mmeushE R P 2w on BHEcoo® By ERE o FHE 1o VT ore mikm omm H E o u POMRE| 4 %
o) mmumam TPF Bx (O @m (e/e) ) (mg/e) (ne/e) (me/e) (me/e) (ng/e) (me/ke) (m) | (me/e) (me/ke) (me/ke) (me/ke)  DO/SS
1 & 7 8 8. bnEEEN—0B| 7.5Y4/2 @R& — 6.8 23 |0.047] 9 | — | 0.20 — | 0.52 — | — | — 65/<0.01] 1,200]14,000] — -
3 " 9.0sigEEn—0B| 7.5Y4/1 @R& — 6.8 25(0.063] 11| —  0.84 — | 0.26] — | — | — 70 0.01| 1,600 12,0000 — -
H12.6.2,17 5 " 8.5 nigEEN—0B| 7.5Y4/1 @R&® — 6.7)25(0.064] 9 | —  0.67 — | 0.18 — | — | — 78 0.02| 1,300/ 9,700, — -
EHAE 6 " 9.2 sgEEs—0B| 5Y6/2 | mL  — 7.1)24(0.180] <1 | — | 0.03 — | 003 — | — | — 391/< 0. 01 8| 3,600 — -
7 " 9.5 ngEEs—0B| 5Y6/2 L  — 7.1/25(0.330] <1 | — 0.0 — | 001 — | — | — 379/ < 0.01 3 2,500 — -
9 " 10. 4 mzEzn—on 56/2  wL | —[7.2/24]0.300[ <1 | — o001 — [o002 - | = [ = 337/<0.01 3] 2,600 — -
1 B 7 8 15.0[mgEzs—on| 54/2 | @R= | — 6.9 25 0.069] 8 2.8 0.42] — [ 021 — | = [ — 19 0.01] — - - -
3 " 15. 2/ mgEEs—on| 54/2 | @R= — 6.7 25 |0.110| 6 2.3/ 0260 — | 019 — [ = | — 109 <0.01| — - - -
H12.8.31 | 5 " 13.8/mzEEn—on| 5Y4/2 | @R=® —[6.7| 25 |0.170| 5 1.8 0.18 — | 017 — | — | — 115 <0.01| — - - -
MEER | 6 " 13.6/mEzn—on| 513/3 @R= —|6.9]25(0.093] 19| 6.9 1.11 — [ 030 — | — [ — 99 <0.01| — - - -
7 " 14. 4 ngEzn—on| 514/2  @R= —|6.8]25(0.170] 12| 4.6 051 — | 0.28) — | — [ — 11.<0.01] — - - -
9 " 15.5mgEEn—on| 5Y5/2 mare — 7.1 25/0.260] 3 1.3 .11 — [ o018 — | — | — 285/<0.01 — - - -
1 & 7 8 12.0[mgE=zm—on| 5Y4/2 | @R= | — 7.1 25 0.081 7 2.2 031 — | 0.68] — | — | — 12/ <0.01] — - - -
3 " 14.8[mgEzn—on| 54/2 | @R= —[6.7| 25 /0.180] 6 1.7 022 — [ 044 — | — | — 223/<0.01 — - - -
H12.9.5 5 " 15. 3[mzEEn—on| 514/2 | @R= —|6.4] 25 0.260| 6 1.7 021 — [ 042 — | — | — 137.<0.01| — - - -
MR 6 " - = === =
7 " 12.3)mgEEn—on 54/2 @R= —| 7 | 25/0.130| 8 2.6 0.30] — | 037 — | = | — 149 <0.01| — - - -
9 " 13. 4 nzEzn—on| 5Y5/2 mare — 6.8 25 0.300] <1 1.0 003 — | 034 — | — | — 315/<0.01 — - - -
1 & 7 8 16. 1[mzEzn—on| 514/2 | @rR= | —|7.4]23]0.098] 12| — | 0.34 — | 0.73] — | — | — 105 <0.01] 1,900 4,800 — -
3 " 16.8[mEzn—on| 514/2  @R= —|6.8]23(0.072] 14| — | 057 — |07 — | — [ — 158 <0.01| 1,100 4,000 — -
H12.9.19 | 5 " 15.0[zEEsn—on| 514/2 @R= —|7.1]23[0.064] 15| — | 0.61 — | 0.85) — | — [ — 83/<0.01| 1,800/ 5900 — -
EHAE 6 " 18. 2/ mzEEn—on| 514/2  @R= —[6.9]23(0.063] 21| — | 0.8 — [ 09 — | — [ — 133/ <0.01| 2,100 6,400 — -
7 " 23. 4 wEFEH—0B 5Y3/2 |mERR| — 6.9 23 0.094] 20| — | 0.77 — | 0.73 — | — | — 156 <0.01| 930 4,200 — -
9 " 18.6/mEEn—on 55/2  mL | —[7.2/24[0170[ <1 | — 005 — [ o048 — | = [ — 332/<0.01 2| 1,900 — -
1 | #-0r i k¥ | 8.7 HEEES—0B 7.5Y3/1 | @RE | 2 6.8 18 0.010 7 3.4] 0.50] 0.48] 0.69] 0.64] 1.41]<0.01] 98/<0.01 1,100 4,800 26,000 -180 %10
. 3 " 9.7 sgEEs—0B| 5Y5/1 | mL 0 6.4 18 [0.520] <1 0.8/ 0.01] 0.01 0.30 0.27 0.20 <0.01| 307 <0.01 11 1,300/ 16, 000/ -5. 85 %107 ]
H1<2E""1E1§)24 4(1) | mRE ke 13,7 mEEEs—o® 7.5Y3/2 @R= | 3 6.6 18 0.077) 8 4.0 0.71 0.70| 0.92| 0.72| 1.44 <0.01 169 0.02 1,300 5,100/ 29,000 -23.3 %107 ‘N?ﬁﬁff;;;;i‘?“,;oft’(;f,‘;k
KEETh 4@ mrm mr  |12.0 sERLYOB | 5Y5/1 | mL 0 6.2 18 2.700 <1 0.9 0.01 .01 0.22] 0.20] 0.05<0.01| 173 <0.01 200 1,500 14,000 -22.8 1q® [F#>ThomEMEREL
6 |& -1y HETR BE| 6.2 EEES—0B 7.5Y3/1 | AR | 2 |6.5 18 0.072] 9 58 1.21 1.18 091 0.87 2.14<0.01| 79 0.01 1,400 6,300 30,000 -37410° |Ekizoremronss
7 |&-wr by e | 8 1 mmEEs—om 7.5Y3/1| @R | 3 6.6 18 0.070] 9 5.6 1.10 1.08 0.91 0.85 1.72. <0.01| 148 0.02| 1,800/ 6,000] 29,000 -183 #1070 [Nebismzitcar v
1 -1y R 6. 6|k zEH—0® 7.5Y3/2 | @RR | 1 |1.2 18 |0.085| 8 3.3] 0.79] 0.77] 0.78] 0.73] 1.10[<0.01] 86/ 0.02| 1,500 6,600 27,000 -183 %10
3 " 5.6 sgEEs—0B 7.5Y5/2 mL 0 6.4 18 [0.420] 1 0.7/ 0.07] 0.07 0.11 0.09 0.44 <0.01| 342 <0.01 18] 1,400/ 15,000 -4.77 %107
H12.12.12 | 4 R 5. 4sigEEn—on| 5¥4/2  @R= 1 6.3| 18 [0.056] 10| 9.7 0.70 0.70| 0.88/ 0.82| 1.04/<0.01 458/ <0.01| 1,200/ 6,800 28,000 -59.7 %10 o4& kst
KEEESE 5 | #-wrma £2m | 5 4AmEEEy—on 7.53/2 @RR | 1 6.3] 18 0.130] 10| 2.7/ 0.41] 0.40] 0.71 0.64 1.82/<0.01 427/<0.01 630 6,800 22,000 -116 10
6 | K-uies mEM | 5 5 uEEES—oB 7.5Y3/2 | AR | 1 |6.3 18 0.190] 9 2.4/ 0.20] 0.18 0.73 0.68 0.28 <0.01| 450 0.01 120 6,000 26,000 -56.8 %107
- - - - - - - =] - - - - - - - - - - - - - - - — |07 DomxBgiE Y TiRERT
1 -1y R 2. AlsigEEs—on| 7.5Y3/2 @R& | 2 6.8 17 |0.095| 11 | 3.4 0.75 0.74] 0.85] 0.57] 1.70/<0.01 71[<0.01| 660 4,900 28,000 -232 %10
1) " 2. 6luEEEs—0n 5Y3/2 | @R | 2 6.8 17 0.086 8 3.1 0.51 0.49 0.87) 0.62] 1.86 <0.01|  84/<0.01 710/ 4,400/ 31,000 -215 %078 [f— V¥ 7BI2ekBT SR
Hiz 226 3 ) 2. AsmgEEs—on 7.514/2) = 1 6.8 17 |0.310 2 1.1 0.07 0.07] 0.34/ 0.21 0.10<0.01| 218 <0.01 26 1,300 17,000 -18.5 1070
o 4 " 2.8sigEEn—0B| 5Y3/2  @R® 2 6.5| 17 [0.065| 12 | 3.9 0.72 0.72] 0.78/ 0.51| 1.37/<0.01 211/<0.01| 420/ 6,100 30,000 154 x10° |No. 42 kst
5 | &-prms ks | 3. 1|mEEEm—oB| 5Y3/2  @R= | 2 6.0 17]0.060] 12| 3.8 0.81 0.81] 0.64] 0.53] 1.51/<0.01| 154/<0.01 570 5,700 31,000 -263 %10
6 | #-uwms taE | 3.7 mEEEs—on 7.5Y3/2 | ARe | 2 (6.5 17 0.290 10 3.3 0.69] 0.69 0.55 0.40 0.94 <0.01| 168 <0.01 27 2,200 27,000 143 1070 [¥o 4 1amEF
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NO. 1 NO. 3
& cop TN cop T—N
2 90 200 2 2 gz.oo
E 10 E1.00 E 10 A\ £ 1.00
a z a z
g o | 0.00 QO o | 0.00
6/2 8/31 9/5 9/19 11/24 12/12 2/26 -  6/2 /31 9/5 9/19 11/24 12/12 2/26 © 6/2 8/31 9/5 9/19 11/24 12/12 2/26+ 6/2 8/31 9/5 9/19 11/24 12/12 2/26
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<HLFEFLBR—)VIRE - oT—5—HK% (1.72) >

R BT — % E " 7 il ] ]
= HOE ® B A A ey P4 DOK#E
AE ﬁﬁ? 2 = £+ R® - g 5 8 2 l P H | |COD g B T-NIg" g T-P W0 TOC) 20 ORP Hifth A # §§ (mg/kg)‘ 218 gpe 2 B (gx) & =
2| @mmzen | owee 5 col m) me/d) &) | (me/e) | (ng/e) ng/p) (me/®) me/p) (me/e) | () me/p) ¥ m mm JOE A A0 meke T8 MeKE posss
1 ] 000~ 0.35% . PEOEEY HY WS EE 7.5Y4/2 | +% |2 /7.5 /17| 0.150, 3 | 1.2 | 0.14/0.14 | 0.45 | 0.02) 0.10 |<0.01] 209/<0.01 <5 <5 <5 |<5 |[<5 [<5b 70 | 2,100 [20,000| -7.27 %10
2 | 0.90~ T40MELYE B, BRHITKA masECcyEw | 5Y5/2 | #L 0 7.5/17] 0.580 <1 0.6 | 002 - 028 - - - 363/<0.01| - - - - - - - - - -
B 3 200~ 270 . HREH MrnECymup| 5Y5/2 | wL |0 ]7.3|17 ) 5.400 <1 0.7 | 0.03/0.03 | 0.31 [<0.01) 0.08 <0.01 214/<0.01 <5 |<5 |<5 |<b <5 |5 19 1,300 [19,000 -13.9 %107°|H6. 125K - EE1. 9m
4 | 400~ 450 PEER MEsFECymEY | 5Y5/2 | &L 0]7.9 /17 /21.0000 2 | 0.8 | 007 - 1027 - - - 61/<0.01) - | - - - - - - - - -
5 | 600~ 6.70 PEER, BIBA msgEcys | 7.5Y5/2 w0 7.6 17| 0.360] <1 0.5 003 - ]0.26 - - - -1<0.01] - - - - - - - - - - HI7LEARS
6 | 6.80~ 7.50 PR ERK BECYH 7.5Y5/2 | L (0 7.3/ 17] 0.460 <1 0.4 | 0.030.03]0.24 | 0.02 0.05 <0.01 171/<0.01] <5 [<5 <5 |5 [ <b Kb 17 | 790 13,000 —61.7 %10 H12. 1. 24~11.27
1 000~ 050 R, 2RNICERY B 7.5Y4/2 | wL |0 7.6 17 ] 0.130] 1 1.0 | 0.09 - 10.44 - - - 3567/<0.01] - - - - - - - - - -
2 | 200~ 250" . SRMISEED MR 7.5Y4/2 | L 0 7.617] 0.130 3 1.4 ] 0.13] - 049 - - - 257/<0.01| - - - - - - - - - -
3 | 3.90 ~ 450 BELYM  UMMEHK. R HY WS EE 7.5Y3/2 | +% |1 /6.7 17| 0.110, 3 | 2.7 | 0.45 0.40 | 0.59 | 0.02 0.83 <0.01 263/<0.01 <5 <5 <5 <5 |[<5 [<5b 88 | 2,700 122,000 -14.9 %107°|H6. 125K : #HES. Om
4 | 540 ~ 6.00LELYN BEOERY HY | wECeysmmt | 5Y3/2 | +: 2 /6.8 17 0.063) 8 | 7.3 1.36] 1.35 | 0.97 | 0.14] 2.93 [<0.01 157/<0.01] <5 | <5 [ <5 [<b | <5 [K5b 48 | 6,800 31,000 -28.5x%107°
5 | 800~ 850 W~ BHEICEEY # 7.5Y5/2 | wL |0 7.417] 0.330 <1 0.7 | 004 - 1031 - - - 147/<0.01) - - - - - - - - - -
B1-2 | 6 [10.00 ~ 10.70" -~ BHICEED # 7.5Y5/2 | L 0 7.4/17] 0.320 <1 0.6 | 003 - 031 - - - 131/<0.01] - - - - - - - - - -
7 |12.00 ~ 12.50 BEEL Yo rEHY HY | wEeymut | 7.5Y4/2 @R=| 2 7.3 /17| 0.064 6 | 2.5 | 0.89/0.86 0.78 0.07 0.89 |[<0.01] 183 <0.01/<5 <5 |<5 <5 <5 <5 210 3,300 124,000 -7.4 %10°°
8 13.80 ~ 14.30 rhEHY HY WS ER 7.5Y4/2 |BRe 2 /7.9 1] 0080 5 1.6 | 0.52 - |0.69 | - - - 87/<0.01 - - - - - - - - - -
9 |16.00 ~ 16.50 . R~ PR s EC B 10Y5/2 | wL |0 8.0|17 | 1.600 <1 1.0 | 0.02/0.02 0.67 | 0.02| 0.20 |<0.01| -79/<0.01 <5 [<5 [<5 <5 <5 |<b 48 | 1,700 29,000 | ~18.5 107° |56k : AET6. 2m
10 | 16.50 ~ 17.00 AR~ R HED 10Y5/2 | L | 0]7.9]17] 0.750 <1 1.1 0.02| - [0.70 - - - 194/<0.01] - - - - - - - - - - B[]
11 120.40 ~ 21.20 EEEL YBIE HBEF. KAHY B 7.5Y5/3 | &L | 07.917]15.000 <1 0.6 002 - 1034 - - - 362/<0.01] - - - - - - - - - - H12.11.30~12.6
1 0.00 ~ 0.40 AR~ Ry # 5Y5/2 | #L | 0]7.3 17 ] 0.550 <1 0.7 | 002 - 025 - - - 286/<0.01| - - - - - - - - - -
2 040~ 060, B~ KDY P e T msoaokeswaa |
3 | 200~ 250" AR~ R HED 5Y5/2 | #L | 0]7.3 17| 0.640 <1 0.8 | 0.03)0.03 |0.28 <0.01 0.01 |[<0.01| 490<0.01/<5 |<5 [<5 [<b |<b [<b 4 11,100 17,000 -3.52 %10°°
B3 4 | 400~ 470 R~ PR masEcyEm| bY5/2 | #L 0 7.4/17] 0.580 <1 0.9 005 - 10.27| - - - 485/<0.01] - - - - - - - - - -
5 | 6.00 ~ 6.50 & MBER BER 5Y5/3 | &L | 0]7.4 17 ] 6.000 <1 0.7 | 0.02)0.02 |0.22 <0.01) 0.05 |<0.01 129/<0.01] <5 | <5 [ <5 [<b | <5 [K5b 42 12,200 21,000 -43.6 x10°°
6 | 10.00 ~ 10.65 MR, KAHY B 5Y5/2 | #L |0 7.8 17 0.290 <1 0.6 | 0.030.020.29 | 0.02 0.11 <0.01] 277/<0.01 <5 |[<5 |<5 |<b <5 |5 5 900 13,000 -5.85 %107 [H6. 1257k : RAEI. Om
7 [13.00 ~ 13.80 % PR ~HER. BHY HED 5Y5/2 | +2 |1]8.0 17| 0.540 <1 0.7 | 003 - 027 - - - 123/<0.01) - - - - - - - - - - B FLEARS
8 |14.25 ~ 15.00 R~ R, HHY MmisECymEn| 5Y4/3 = 180 17 1.050 <1 | 0.6 | 0.02 - 10.21 | - - - -“42<001 - - - - - - - - - - H12.11. 20~11. 22
1 0.30 ~ 0.80 EERELYBE HASW BER 5Y4/3 | %L | 0]8.0 18/16.000 <1 0.6 | 007 - |03 - - - 296/<0.01| - - - - - - - - - -
2 | 3.30~ 3708 R~ PR mrsmECY® | 5Y5/3 | 4L | 07.9 17 0.330 <1 0.9 | 0.04 0.040.29 | 0.02 0.42 <0.01] 116/<0.01 <5 |<5 |<5 |<b <5 |5 11 12,400 14,000 -37.8 %10°°
3 | 540 ~ 6.008 MRS~ B, UMMEH msECyMEw | 7.5Y4/1 | L 0 7.8/17] 0.360] 1 0.8 | 0.08 - 1029 - - - -69/<0.01| - - - - - - - - - -
4 | 7.60 ~ 8.20 #pg DEOII B 7.5Y5/3 | =L | 0 /8.0 17]19.000 <1 0.9 | 0.030.02 | 0.31 [<0.01) 0.49 <0.01] -181/<0.01 <5 |<5 |<5 |<b <5 [ <5 19 | 1,500 16,000 -3.62 %10°°
B5 5 10.00 ~ 10.60 & PR~ R HED 7.5Y5/2 | L [0 7.9/17] 0.630 <1 0.6 | 003 - 025 - - - -149/<0.01| - - - - - - - - - -
6 | 11.70 ~ 12.30 & PE)~ B E s ECYBEE| 7.5Y4/2 | L |0 7.9|17 | 1.900 <1 0.8 034 - 105 - - - -136/<0.01) - - - - - - - - - - HB. 12571 B - REET1. Tm
6 | 12.40 ~ 12.90 ynh UMb~ R, ERMH Y HY S EB 7.5Y3/1 |mR® 2 6.5 17 0.079] 18| 5.7 | 0.90 - 1.33 | - - - <0.01] - - - - - - - - - -
7 |15.80 ~ 16.60 & R, 2RNICERY HY | wusxcym | 7.5Y4/2  £= | 27.9/17 0170, 2 | 1.9 | 0.10, - /0.38 | - - - -178/<0.01| - - - - - - - - - - HI7L#ARS
8 | 16.60 ~ 17.00WNEC YR  Mb~ME. EEWHY HY HBHIS EH 7.5Y4/2 | = (2 17.7/17] 0.092 1 1.2 | 0.40/0.39 | 0.26 | 0.09]| 1.18 <0.01 -169/<0.01/ <5 <5 |<5 |5 |5 Kb 110 3,600 | 20,000 -8.26 %10°° H12.11.20~11. 24
1050~ 1.20 EERLCYBE ErEL. TEOREER B 5Y4/2 | mL |0 7.8 17 2.600 <1 0.8 | 0.04 0.04 | 0.26 <0.01) 3.83 <0.01 247/<0.01 <5 <5 |<5 |<b <5 |5 2 12,000 14,000 -4.44 x10°°
2 400~ 5.0 LD e e T T T T meosoressna |
B6 3 | 6.20~ 6.80 i P~ KhHY B 7.5Y5/2 | =L |0 8.0 17| 4.200 <1 0.6 | 0.030.030.29 | 0.03 0.10 <0.01] -47/<0.01 <5 |[<5 |<5 |<b <5 |5 21 | 1,600 17,000 -11.8 %107°|H6. 12376 : BT 3m
4 | 820~ 9.00 PR ~HEB. KAHY wE$ 5Y5/2 | +2 | 1]7.9 17| 4.000 <1 0.7 | 002 - 029 - - - -67/<0.01| - - - - - - - - - -
5 10.00 ~ 10.90 & MR~ BEYHY BED 7.5Y5/2 | +: |1 /7.9 17] 0.990 1 1.2 | 0.10/0.10 1 0.30 | 0.02| 0.10 | 0.01] -102/<0.01/ <5 [<5 [<5 <5 <5 |<b 16 | 1,400 15,000 -24.5 %10°° HI7L#ARS
6 | 12.00 ~ 12.35 8 PR~EB. KAHY BELYB 7.5Y5/2 | L |0 7.9 17 0.430 <1 0.8 002 - 1030 - - - -77/<0.01| - - - - - - - - - - H12.11.20~11.23
103~ 090 oK BELUD 5Y5/3 | %L |0 8.0 17 0.330 <1 0.7 003 - ]0.28 - - - 22/<0.01| - - - - - - - - - -
2 | 200~ 250" R, FIHg MR 7.5Y5/2 | L [0 7.9/17] 0.150] 1 1.0 | 0.05/0.05 | 0.44  0.09/0.18 | 0.01 -31/<0.01/<5 <5 |<5 |5 |[<b Kb 48 | 2,500 19,000 -13.6%10°°
3 300~ 360 ____._ . 6., B BED 7.5Y5/2 | L |0 17.9 17| 0.730] <1 0.8 003 - 1030 - - - 6/<0.01 - - - - - - - - - -
4 ar~ a0 FEER e e T T T meosorestna |
B7 | 5 | 520~ 5.80 W~ R, HITEEY s ECYmup| 7.5Y5/2 | L |0 7.6|17 | 0.550 <1 0. 0.02/0.02 | 0.29 | 0.04) 0.50 <0.01 -36/<0.01 <5 <5 <5 |<b <5 [<5 14 1,300 15,000 -32.5 %10°°
6 | 6.00~ 6.60# W ~hR. HITEED BECYH 7.5Y5/2 | L [0 7.9/17] 0.430 <1 0.8 | 003 - 014 - - - -179/<0.01| - - - - - - - - - - H6. 125 B : JRAE6. 2m
7 | 7.00~ 7.50 W~ R, HITEEY masEcyEm | 7.5Y6/2 | += (1 7.917] 0.330] <1 0.9 004 - 1027 - - - -54/<0.01] - - - - - - - - - -
8 | 9.00~ 9.70 i LfkEI<AR. B HY wHEH 7.5Y5/2 | 2= 2 7.8 17| 8.900 <1 0.5 | 003 - 024 - - - -133/<0.01| - - - - - - - - - - B[]
9 110.40 ~ 11.00" BRI, BEVEST HY B 7.5Y5/2 | +m |2 17.817/16.000 1 0.6 | 0.05 0.050.29 <0.01/0.79 | 0.04 -161/<0.01 <5 <5 [<5 [<b <5 <5 19 | 1,600 16,000 -9.81 %10° H12.11.25~11. 28
1 1.00 ~ 1.75 ERELYDE BER 7.5Y5/2 | L |0 7.917[39.000 <1 0.8 | 002 - 030 - - - 266/<0.01| - - - - - - - - - -
2 | 3.00~ 3.65 ERELYBH B 5Y6/1 | =L |0 8.0 17 28.000 <1 0.8 | 0.02]0.02 | 0.21 |[<0.01) 0.69 <0.01] 219/<0.01 <5 <5 |<5 |<b <5 <5 5 | 1,500 18,000 -6.98 x10°
3 | 400~ 4.8 EEELYBE ERELYDE wEH 5Y5/2 | +2 | 1]7.9 17 /21.000 <1 0.3 | 002 - |021]| - - - 170/<0.01) - - - - - - - - - -
4 | 550~ 590 ERELYBH BHECYBR 5Y5/2 | mL |0 7.7 17 33.000 <1 0.8 002 - 1023 - - - 101/<0.01] - - - - - - - - - -
pg O 650~ 7.00 EERLY B e R T T meosoressra |
6 | 850~ 9.00 ERBELYBE B 5Y5/2 | mL |0 7.9 /17| 6.500 <1 0.7 | 002 - 1029 - - - 80/<0.01] - - - - - - - - - -
7 110.30 ~ 11.00 i B BER 5Y6/2 | &L | 0]7.4 17 ]22.000 <1 0.9 | 0.02)0.02 |0.16 |[<0.01) 0.30 <0.01 19/<0.01/ <5 | <5 [<b |5 Kb |5 | <1 450 15,000 —11.0 %107° |H6. 125 EK : BREE11. 0m
8 [12.00 ~ 12.70" i R 5Y6/2 | mL |0 7.9 /17| 6.000 <1 0.7 0.01 - J0.17 | - - - -94/<0.01] - - - - - - - - - -
9 [13.80 ~ 14.50 ;MNEC YR | DEOUM wEY 7.5Y5/2 | L |0 |7.8]17/21.000 <1 0.6 0.02| - 0.24 | - - - -109/<0.01| - - - - - - - - - - 7L AR
10 | 16.30 ~ 16.00 WHEL YE | $ < Dbk HY WHSED 7.5Y4/2 | +% |2 6.8 17| 0.150 4 | 1.1 0.28 0.26 | 0.63 | 0.52) 0.29 | 0.14] -130/<0.01 <5 [<5 [<b5 [<b <5 |5 38 3,300 22,000 -17.6%10°° H12.11.25~11. 28
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Az B ) ® (g;;@;):é,;%Hﬂg‘j@_ﬁfjﬁy/(;'Qt;%i%?f:;_g) AW BARETEELOTHINE S S i =
w R R R e % |l ®EE | Raosqk | 454+ | mAULE | Na | Mg | Al K [Ca[Ti [V W [FelCulZn
(chlorite) (smectite) (illite) (kaolin minerals) | (%) | (%) | (%) [(YRBCYRECRECRECYRECNNCRN))
1000~ 0358 5. LEOMEY ®Y 3.5 1.5 10.0 1.0 1.2210.55 | 4.43 1.58 [1.230.17 | - [0.05 1.74| - | -
2 0.90 ~ 1.40ELYR AR, BRITKS - - - - - - - - - - - - - - -
gy | 3] 200~ 2700 Bk 1.48 | 0.88 | 6.08 1.95 117 [0.16 | - |0.05|1.75 | 0.01 | 0.01 BEHMBOIDHSHTE
4 | 400~ 4.50 FBEHE - - - - - -] - -l -1 -1-1-1T-1-71-
5 | 6.00~ 6.70] FBIE, BEA - - - - - -] - -l -1 -1-1-1T-1-71-
6 | 6.80 ~ 7.50" PR 0.920.54 3.42 1.74 1 0.87 [0.12 | - 004 1.24 | - | - BENBBOIHSHTEE
1 000~ 0.50 R ) - - - - -1 -1- - -1 -1T-1T-T-T-7T-
2 | 200~ 250 8. 2HNICERY - - - - - - - - - - -
33,90 ~ 4.50[@ELYM b @B &Y 5.0 3.5 8.0 12.5 .10 [1.12 [ 5.96 1.611.28/0.20| - 0.07/1.92 - |0.01
4 | 540~ 6.00BLELYN SEOMEN &Y 5.0 9.0 7.5 12.0 15]0.83 | 6.08 122022 - [0.09 - oo
5 | 800~ 850 f~hB. ERIZEEY - - - -] - -l -1 -1T-1- - |-
B1-2| 6 |10.00 ~ 10.70 i~ B, ERICEEY - - - - - -] - -l -1-1T-1T-1T-1-71T-
71200 ~ 12800, o IKHBY &Y 5.5 4.5 10.5 15.5 1.230.94 | 5.65 1.65 1.26 [0.20 | - 0.07 |2.06 - |0.01
8 [13.80 ~ 14.30 KR HY &Y - - - - - -] - -l -1 -1-1-1T-1-71-
9 [16.00 ~ 16,50, ., ) 5.5 - 3.5 21.0 1.28 | 0.97 | 6.43 1.40 | 2.07 [ 0.28 [ 0.01 [0.08 | 2.93 | - |0.01
10 [16.50 ~ 17.00 B~ E - - - - - - - - - - - - - - -
1120.40 ~ 21.20 TERL YW HEH. KKSHY - - - - - -1 - -l -1 -1T-1T-1T-1T-1T-
"1 000~ 0.40 8B~ ) - - - - -1 -1- - -1 -T-T-T-T1T-7T-
2 | 0.40~ 0.60 R~ B, KEHY A DHO 1S HFE
3 200~ 250" R~ P 1.16 1 0.20 | 3.11 145 1.180.16 | - |0.05|1.50 | - | - BEHMBOIHSHTE
g3 | 4400~ 470 ) - - - -] - -l -1-1T-1T-1T-1-71T-
5 | 6.00 ~ 650w BTk 5.5 - 15.5 24.0 1.74 10.89 | 6.19 1.90 | 1.21[0.16 | - |0.05|2.06 | 0.01 | 0.01
6 10.00 ~ 10.65 . KEBY t:t:f:{:j 1.390.38 | 4.14 1.370.980.13| - [0.04]1.38] - | - Yt Y]
7 113.00 ~ 13.80/% PR ~HER. HHY - - - - - -] - - - -1 -1-1-71-
8 [14.25 ~ 15.00 PEH~ER. BHY - - - - - -1 - -l -1 -1T-1T-1T-1T-1T-
1 0.30 ~ 0.80 ERELYBE HAZL - - - - - - - - - - - - - - -
2 330~ 3.70/® A~ P e e 02 A 1.631.12 017 - [0.05]1.66 - - BISHEDIHAHTH
3 540~ 600w e, s - 1 - 1 - | - [ -1-1- i I T N AR R R
4 | 7.60 ~ 8.20mm LR .66 [ 0.70 [ 6.13 1.97 [1.27 017 - [0.06[1.80 - 0.0 BISHEDIHAHTH
B5 | 5 |10.00 ~ 1060/ PR~ R - - - - - -] - -l -1-1T-1T-1T-1-71T-
6 |11.70 ~ 12.30/ PR~ R - - - - - -] - -l -1-1T-1T-1T-1-71T-
6 12,40 ~ 12.90 st I~ BENBY | HY - - - - - -] - -l -1-1T-1T-1T-1-71T-
7 15.80 ~ 16.60/% 5. LENCEEN &Y - - - - - -] - -l -1 -1T-1- - |-
8 [16.60 ~ 17.00 WNEL YR  hb~#0. BEWSHY | HY 5.0 6.5 10.0 14.5 1.04 11.09 | 5.62 1.62 | 1.110.20 | - 1007 200 - [0.01
1050~ 12 ___ % . * 1.3 Bt SR D 15 H T b
2 | 4.00~ 500 "ECYER el L msosorssmRE
B6 3 6.20 ~ 6.80 P R ~HEE. KAHY HEHMEOT-OSTEE
4 | 820~ 9.00 PER~BE. KEHY - - - - - - - - - - -
5 [10.00 ~ 10.90 /& R~ P, BENSHY 1.10 | 0.54 | 4.33 1.620.92 014 - [0.04|1.24] - | - BEHMBOIHSHTE
6 12.00 ~ 12.35/ PR~ KESHY - - - - - -1 - -l -1 -1T-1T-1T-1T-1T-
11030~ 0.90] wIH - - - - - - - - - - - - - - -
2 | 200~ 250" 5. I 5.0 0.5 13.5 15.0 1.24 | 1.17 | 5.54 168 1.02 [ 0.17 | - [0.05|1.68| - | -
3 [ 300~ 3.60[___ . . |% - - - - - - - - - - - - - - -
4300~ a0 TEEYRR A OB O DRI
B7 | 5 |520~ 580 R~ DB, FIHEN 1.03 | 0.54 | 4.42 1.85/0.91/0.14| - [0.04 |1.610.01 | 0.01 BEHMBOIHSHTE
6 | 6.00 ~ 6.60% @~ . RIZHEY - - - - - -] - -l -1 -1-1-1T-1-71-
7 7.00~ 17.50 M~ RIHEY - - - - - -] - -l -1-1T-1T-1T-1-71T-
8 [ 9.0~ 0.70[ SRR, B ®Y - - - - - -] - -l -1 -1-1-1T-1-71-
9 [10.40 ~ 11.00" HAMII . BEWESE | HY 2.0 Trace 10.0 8.5 1.50 | 0.58 | 5.24 1.96 | 1.02 [ 0.15 | - |0.05 | 1.470.010.01
1 100~ 1.75 FERELYBH - - - - - - - - - - - - - - -
2 | 300~ 365 ERELYBRH 0.74 [ 0.89 | 3.30 131092011 - [003]1.09 - | - BEHMBOIHSHTE
3 | 400~ 480 o e ETELCYBE - - - - - - - - - - - - - - -
4 [ 5.50 ~ 5.90 T EC PR e ynm
B9 5 6.50 ~ 7.00 FRELCYBE B DHDI-HH A
6 8.50 ~ 9.00 FRELCYBE
7 ]10.30 ~ 11.00], . EL] Bt SR D 1 D5 H T b
8 [12.00 ~ 12.70) Big - - - - - - - - - - - - - - -
9 |13.80 ~ 14.50/hHEL UBEE | DEDIM - - - - - - - - - - - - - - -
10 [15.30 ~ 16.00 hHELYB |5 < Db ®Y 3.0 Trace 10.0 9.0 1.33 1 0.72 | 5.31 1.64 11.04 0.16 | - | 0.05|1.60 | 0.01 0.01
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